| Efficiency vs Dxy |
> 0.5 : : : : : : :
5 o : : : : : :

QOABL
B 04
L e T T e s

efficiency v

©
w
T

B s S e
e A A S I B S
L |

0.05f

Ratio
N

0 C . . PR LIS i i
0 =15 -10 -5 5 10 15 20
TP dxy (cm)

== Bém_uiigtj‘?l Yb(%nouveuw 1660evt
ffici = {
(Efficiency vs Dz | | == E Milz %%%ié%ﬁ HERbTLIER 1000evt

12— | —— I

efficiency vs dz
=

©
0
L

.....................................................................

.....................................................................

o
(*2)
L

....................................................................

o
N
T T | T T

o
N

.........................................................

Ratio

55 220 —10 30
TP dz (cm)



	Contents
	Page 1


